Weekend 3 — 274 Presentation for Module 3) h

SSally o 13y (ot SR AN 2

J1 55 0 J3ls e f81adg

T

}O/L:: ‘ 5'-3




g & s Weekend 3 — 274 Presentation for Module 3)\

» Brothers and sisters, we welcome you to our 2" review for

FOUNDATION 1 (Module 3 - Week 3 Lesson 11 -15) :

< We are going to review the conjugations of the different
verbs:

v" The Past Tense
v The Present Tense

v The Imperative

@ UQA 101 - Module 3 — Week 3 Weekend Class (2) Learn Arabic for Allaah! /




C(’I)‘MPLETE CONJUGATION OF THEVERB
HE VERB (PAST TENSE) s o
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The Past Tense
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COMPLETE CONJUGATION OF THE

VERB (PRESENT TENSE) (},Lat)i jailf)

”‘éé %34 3}3.0 From the Verb — Ca}
e 0 &~ o‘/ o (-7 °'/ Sz o’/ é/.}
Codiky | | o2 oLk B k|| 82 S i

K & %~ - R4 N ‘f‘/ b.; . ‘
g o OLAL & Cadi ||| & Casa

Spali | | ] | [owads| || | k|| & fu

R e - b -

20 ¢ 55 s,%% S~ 80% <19 | 2 o’ﬁ - 32 o 555

Rl e OLaK | | Ll ||| imdd ||| &4 g
7

o
\

(\ﬁ“
-

e\ \




The Present Tense - & Jbaall Jadll
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CONJUGATION OF THE VERB

IMPERATIVE (COMMAND FORM) (39 #asfi)

Formulating the imperative. The imperative is formulated from the 2"? person present tense as follows:

1. Select the Majzoom form of the 2"d person Present tense

o
* 8

© /a':"/ :.;32 o %2t 209% o /c’.,o/ - 22 é/.
1305 1 o WA L LAl &l Sda y o
A . 8
Lsl ,,o/ “fﬁ /o/O/ \Aisf | /0.“5/ C;:.j . ﬁ/} ‘&w‘
Aoy ol WAL ! . Y
13485 La3 vy
2. Drop the sign of the present tense, in this case the (<) at - - -
the beginning of each word. REY Lad R
3. Add Hamzatul Wasl to each of the forms since the 1aa3) Lal| 3|
verb cannot begin with sukoon. :
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The Imperative - Y Jxdl
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He understood
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